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Inorganic Chemistry 1  
QUANTUM THEORY 
BOHR THEORY 
 

 

 

 

 

 
 
 
Problem-solving Example 18 
 

How much energy does a B4+ ion lose when its electron move from n = 4 to n = 2. 
What is the wave number of the photon emitted. 
 
 

 Solution 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

PSEUDO-HYDROGEN ATOM / ONE-ELECTRON 

SYSTEM CATION (HYDROGEN-LIKE ATOM)  



School of Chemical Sciences, Universiti Sains Malaysia KTT 111 : Inorganic Chemistry 1 

Solution 

 

 

 

 

 

 

Prepared by 

V.Manoharan 
vmano@usm.my 

manovv1955@yahoo.com 

04-6533888 ext 3566 

 

mailto:vmano@usm.my
mailto:manovv1955@yahoo.com

